
6 . 10 Monday
Product rule Quotient rule derivative ofinn

lim 2018-1 =0

tim Soin t

(fig) =if+ gof ' product once

(E) = its Quotien mee

D
·
Umo *use



Quotion rule =

I in y'= ESIn
Sint (H+ +)

t (1+ t)w

&(+ Sint) = + cost+ Sint . 1 Scott
- it is

= fost + an)
(O chain nules

fltt cost
cos (20) = coso - SinoW

= 1050 - (1-1050) = 2012-1 + cost

&

f'(t) = (cosA) + (E) =
20034 -1

=-
- -

-
cos(20) +1 = 20050

&

= &(cos( 2+) cos (20) +/
- coso = -

i z

2 cost = -Sint

I her

=- Sin(2) ?i
I

= - SM12t). 2

= E . 27 Sinke) = - Sinet)



#()= -
Pain ma

get f.g I
(fog)=

-g = g(x+(x) - g()

of : fig + og) - f(9) ·
gis its fume-
Ex+O

Wi 89 +e

=D) gx
=>

Eq()g'(x)
If g is differentable atx and f is differentiable at

gix)- -

Then : F = fog F(x = fo(y(x) is differenticable at X.

=f(g() · g(x)
- -

& both differenceable↳= f(u(x) = f'(gm)

= g(x)
I



y= f(u)ug)
h(t) = cost⑳

y = fog(t)
U= g(t)= cost

=(cost)
2

= 41+ )

-y = f(u) = 42 -

chain rule-

--

as d zu
-Andde e a

di

and st
=

2 cost ( Sint

=

- 2cost Sint

↓ Sque

Fix=-
=

- Sinzt
x=-

A
poly nomic

F = f(g(x) ·g(x) D first definite
↓

F F = fog -

im
· 2x

g(x)

g(x)= xi+ / I
·2Y

th= x
*=

Y

gix = 24 ·

·
D second merston

definin·Inox(dy
dY

= (
*
(2x)=



⑮
f(x) =

fun)
DIdentify M. E
& Write=
03 thinking about cannu

X

↳ Compute = for
dy and

24

⑤ substitute using chain rue=
with

& Replac n by X Nineenable24af

=z

#Sink)y

h= y = f(u)=>

drosn , A =x d a
=
cosy IX

=cos. 2Y



derivateof
Sin to be outer function

K oneer function,

Mup 4 =

mixv Tobe
inerfuncio,

Innerfunction

evaluateaa derivative of

↓ inner functionI I

(fogie) = f (g() g((x

↑ "derivate ofoutEmergin aa inner function

N

y=( 2

y = 2) sinx) cost

= 2 Sinx cost



(x)= nxm

Mt*
= n)f())

*

f(x)

y= ((x*=m))108Y= (0(x+ (9(3x7
= 300(X" - 1)99 yu

- 5 y

f(x) = x+)
f(x) =

-5(XIX+)(2x+1)
= (x *x=)

-5

=)
g(= (

:(
2t+ 1

- (2+ -4)

T
=

2t
+ 1 -2t+4

= 5

=

9)8

I 9(t -2) x 5
-

Gt+) 8 (ie+1)



y= (2x+ 15(X3
-x + 1)4

y = (2x+1) ((-x+y)+ ex+))
(x3 -x+1/4

= (ex+1)(x-x+ )4) +mxD4
= (2x+1) 4)X-x+1)3(x2-7) + -(2#1)"2(x -X+1)

fix = ex f(x)= ex

1
(sinx)↳ye

**

Y = e *
fix= Sim (Coss (amxD)
fichai

= cos(msHanixi) Costam) as an are2
= cos(costan(x) . (SM) +ancxs ) Secx

= -Cos(10sHmx1) Sin(tan(x)) - seck



y= e30
=

e (8130) (see)
sec3o

= e- Sec(30) tan (30) . 3

=3e
secso

. Sec(30)+an (30)

-

fix
=eY fix= e

+ b
"

= ((b)x
= eleba

b
=2

(bY
'

=(e) e
9(

=2x g(x = (2). 24
* = 15 . 5(x*ex= 2n5x

= (lnb)be = e
*

hix)=

=Inb . by
whent



y= (5=x) y=e

y = 3(5 - x4)(-4x y =g()
= - 12(5 -

xx)2(x) =e

y = $in(cosX)
-

y = cos(cosx) · -Sinx = x)
=- cos(cosX) · Sinx

cos(1-x2)

Y'= Sinc (cos(rx)+ cosx

Sinx (-Sin(1-xY) (2x))+ cos(- x 2)
cosX·Sin Six scrxY . exter a

y-0 = ( )(x - )

y' = los (sin(x) co
y = - (X - )

↑

X=Th

y (i)
= cos (Sinc). cos (n) j

=cos1
cos

=
1 .(1) = +

slope
= +- (+1 .%



y = bx

-Y = zX (0 , 1) y = eb .

by

T

&
(Inz .)

= C

(In2 .x)

Inz = 24 . In

Oy = enz . x2"When X =o

yc) = en2 . 20 = In2 Slope In 2

Co, 13

y -1 = (nz (X -0)

y -1 = (fuz)X
y= (nzx + 1


